Math 1496 Calc 1 - Homework #3

Pg. 103-4,#5,7,9, 33, 51, 55 and 61
Pg. 112, #3,11, 13,37 and 39

Pg. 127,#15,17,21, 29, 33 and 35
Pg. 246, # 13,25 and 29

Pg. 103, #5, 7 and 9 (the graphs are in the book)
Determine the limit and discuss the continuity of each function

(@) lim f(x)  (b) lim f(x)  (0) limf(x)

x—ct X—C

#33 Discuss the continuity of the function (the graph are in the book)

Pg. 104, #51, 55 and 62
Find x values (if any) at which f is not continuous. Which ones are removable?

1
sx+1, x<2
#51 x)=<( 2 ! -
f(x) {3—x, x>2
In(x+1), x>0
#55 = -
fx) {1—x2, x<0

2 <1
3 r= (find a)
ax—4, x>1

#62 f(x) = {

Pg. 112, # 3 From the graph (in the book) determine whether f(x) approaches —co or co

as x approaches 2

f(x):2 2 _ 4

# 11, 13 From the graph determine whether f(x) approaches —oo or o as x approaches
-3

: ‘

#11 =
f(x) xz _ 9
#13 f(x) = -
- x2-9
# 37, 39 Find the one-sided limit (if it exists)
#37 lim
x—2+ X — 2
439 lim — O

xs-3-x2+x—6



Pg. 246, #13,25 and 29
Find the following limits (if it exists

2
#13  lim Y12

x—oo x3 — 1

I X242
xglgoxz—l

ox242
lim

x—oo x — 1

#25 lim

X—==00 \/x2 — x

2
909 lim Y1

x—oo 2x —1
Pg. 127, #15, 17, 21, Find the derivative of the following using the limit process.
#15 f(x)=7
#17 f(x) = —5x
#21 f(x)=x*4+x-3
#29 and 35, Find the equation of the tangent line at the given point.
#29 f(x)=x*+3, (—1,4)
#3 f(x) = V7 (1,1)

#5 f()=x+s, (~4-5)



